Sensorflow 21

A4664.. A4798.. A4799.. Shonks

Produced from: Sept. 2021

136

750

210

Basin Spout Electronic with
chrome

Basin Spout Electronic AC
chrome

battery DC
A4664AA

A4798AA

Basin Spout Electronic Multi

Page 1 of 2

chrome A4799AA
Pos. 7 was flex. hose until Jan. 2011
with order-no. A963685NU
Part- Part-
Pos.  Description Number Qty. Pos.  Description Number Qty.
1 Aerator M24x1 complete 8 Coupling complete A 963 289 NU 1 pcs
with 4,71/min - 3bar B 960 859 AA 1 pcs
1a Inner flow insert to pos.1 ;
with 5I/min - 0,3 bar B 960 860 NU 1 pcs (o)
2 O-Ring @36x2 A 961 335 NU 1 pcs E
3 O-Ring @26x2,5 A 860 845 NU 1 pcs 8
4 Set screw M6 A 960 201 AA 1 pcs [
5 Sensor complete A 960 219 NU 1 pcs Q
6 Fixation-Set Universal A 960 486 NU 1 Set (/7]
7 Cu-pipe M10x1/L391 B 960 459 NU 1 pcs

Sensorflow



Sensorflow 21

A4664.. A4798.. A4799..

Produced from: Febr. 2008 - Sept. 2021

136

750

210

Basin Spout Electronic with battery DC

chrome A4664AA
Basin Spout Electronic AC

chrome A4798AA
Basin Spout Electronic Multi

chrome A4799AA

Pos. 16 was flex. hose until Jan. 2011
with order-no. A963685NU

Page 1 of 2

Part- Part-
Pos.  Description Number Qty. Pos.  Description Number Qty.

1 Body ( Electr. spout) 9 Extension f. Body
2 Aerator M24x1 complete 10 O-Ring @156x1,78 A 961 182 NU 2 pcs

with 4,7|/min - 3bar B 960 859 AA 1 pcs 1 Sensor complete + Pos.10 A 960 219 NU 1 pcs ;
2a Inner flow insert to pos.2 12 Thread shaft M33x1,5 (o)

with 5l/min - 0,3 bar B 960 860 NU 1 pcs 13 Fixation-Set Universal A 960 486 NU 1 Set E
3 Aerator key 14 Sensor cover 8
4 O-Ring @36x2 A 961 335 NU 1 pcs 15  Cylindrical screw M5 x 20 DIN 7985 c
5 O-Ring @26x2,5 A 860 845 NU 1 pcs 16 Cu-pipe M10x1/L391 B 960 459 NU 1 pcs (1)
6 Adapter ( Connector pipe M10x1) 17 Corrugated tube A 960 221 NU 1 pcs (/p]
7 Sensor holder (tin) 18  Coupling complete A 963 289 NU 1 pcs
8 Set screw M6 A 960 201 AA 1 pcs

Sensorflow



